Multiply by 10

complete the calculation.

1. Choose the correct numbers to

4. Complete the calculation so the
answer is a number between 40 and 80.

>
0

VF

= x 10 N I3
(ﬁQ P
’“(Q) ® X ‘IO =
6 60 16
VF PS
2. Which is the odd one out? 5. Chocolate eggs are sold in bags of 10.
B Lyra has 70 eggs.

How many bags did she buy?

If Lyra gives 1 bag to a friend, how many
eggs will she have left? Explain how you
know.

3. Use <, > or = fo compare the
statements below.

6. Kel and Sufjan are rolling two dice and
multiplying the total by 10.
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The highest number we can
%%@ 6x10 4mqkeisl20.
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Kel
N
2x10 i We can make any number in
To? the ten times table.
R /
Sufjan
10x7 Are they both correct? Explain your
answer.
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Multiply by 10

1.60=6x10
2.8
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4. Vquous answers, for example: 5x 10=50, 6 x 10 =60, 7 x 10 = 70.

5. Lyra bought 7 bags. If she gives one bag away, she will have 60 eggs left, because 7 -
1=6,and é x 10 = 60.

6. Kel is correct because the highest possible number on each dieis 6. 6 + 6 =12 and 12
x 10 = 120. Sufjan is incorrect because it is impossible for them to make 0 x 10 or 1 x 10,
as the lowest possible total across the two diceis 1 + 1 = 2.
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